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The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Fach question is a one mark question. You are to select one most appropriate
response out of the four provided to you.



9. Question numbers 34 to 36 in Section-B are questions based on practical skills are two
marks questions.

aTT-31 / SECTION-A

1 wﬂw%mw%@aﬁmﬂwﬁmﬁ%@ﬁﬁﬁﬁﬁtw%m@ﬁmm%u 1
<9 TR F1 Tm ey sl 98 |yafd g g

Name the hormone in humans which regulates carbohydrate, protein and fat metabolism in
the body. Mention the site where it is synthesized.

2 Wmmw%ﬁa@ami ' 1

List two sources of magnetic fields.

3 ma@#ﬁ(m@wm)ﬁéﬁaﬁwimﬁmﬁ;mﬁﬁaﬁn 1

Name the types of energy transformations that take place in a Hydro power plant.

4 3 faw T FEvl W foEn Hi

Na:;COs, NaCl, NH;Cl, CHsCOONa. T 4 frg dau & ﬁﬁm

@  oT=d
(i) ~ SeEE qu
(i) A W2

Consider the following salts :

Na;COs, NaCl, NHCl, CH;COONa. Which of these salts will give
(1) Acidic solution

(i)  Neutral solution and

(i)  Basic solution ?
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State reason for the following :
(i) Tonic compounds conduct electricity only in the molten state.

(i) [onic compounds are generally soluble in water but insoluble insolvents such as
kerosene, petrol etc. '

IR T STMTOT SHTE 1 B € 2 98 sga vaelt Tt e wfi st w5 e w@l A ¥

What is the basic unit of the kidney called ? Why is it composed of a cluster of very thin-
walled blood capillaries ? '

et arafies weietol = dfor wifed
() Mg (OH),+HCl —MgCl,+H,0

(i) N,+H,—NH,

(i)  P,+0,>P0,

Balance the following chemical equations :
() Mg(OH),+HCl - MgCl,+H,0

{ii) N,+H,— NH,

(i) P,+0,—P0,

(a)  hfowad qur Few i geraen fug e fafed |
(b)  TOEH! % TR0 R CaS 1 Fao SEd |
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(© Cas it § wafeer s & T fafed |

(9T} FEAT Ca =20, S=16)

(@)  Write the electron-dot structure for calcium and sulphur,
(b)  Show the formation of CaS$ by the transfer of electrons.
(©) Name the ions present in this compound CaS.

(Atomic number of Ca=20, 5= 16)

Pt el o7 P 3 o oL ferefor @R S ST R 2

() — eEgEIE 3 (iv) | Ofsan EgERS

@ WEwe (v) R RS

(i) ~WERIRE (vi) ARfiE TEgEERS

How the following substances will dissociate to Iproduce jons in their solutions ?

] Hydrochloric acid (iv)  Sodium hydroxide

(i) Nitric acid (v)  Potassium hydroxide
(iiiy ~ Sulphuric acid (vi) ~Magnesium hydroxide
i1 3 IOl STl 1T

) S & awd W%ﬂﬂ?mﬁ@@ﬁmﬂﬁﬁﬁmﬁﬁﬁﬁﬁ%!

(if) Grqwmﬂ?ﬁﬁaaﬁ-aﬁrﬁmﬂmEWW%,aﬁwﬁéﬁﬁaﬁ%t
(iif) < Y aegeil W e fRan s R
State reason for the following :

i) Small amount of acid is added to water during electrolysis of water.

(if) When ammonium chloride is dissolved in water in a test tube, the test tube becomes
cold.
{ii) Paint is applied on iron articles.
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Write two different types of movements shown by plants. Explain by giving one example for
each.

12 WFE A a2 & e sEd o gud amise St
(i)  SmEreH (iiy S
Draw a diagram of human respiratory system and label on it :

(i)  Diaphragm (i)  Larynx

13 3 &I 1 weait ol S A ey s fre wheand @t € }
()  weleEde, WA it a9 % i e T
(i) ~ HFE TET A H gay 991 ufy
(iii) T Y HISH % STERITO HT A

Identify and name the organ where the following processes take place :
(i) Site of the complete digestion of carbohydrates, proteins and fats.
(i)  The largest gland in human digestive system.

(iif)  Site of absorption of digested food.

14 el forgm seadt =1 sEai® 750 W; 200 V § | wftesier it 3
(i)  smEvIs fae@ U/
(i) 3 % O SHagE Ay

() R BRI 2 W W IOyE S
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A electric iron has a rating of 750 W; 200 V. Calculate :

(i) the current required
(i)  the resistance of its heating element

(i)  energy consumed by the iron in 2 hours

fareft SR aftwe (220 V) B 5 A 1 RIS @ ¥ 1 T9 O W 100 W ; 220 V SIS & R oo

firae ®9 | 39 e o wand €2

A domestic electric circuit (220 V) has a 5 A fuse. How many bulbs of 100 W ; 220 V rating can

be safely used on this line ?
1 dree Ft yfevmn fofa ) 5 %/ sik s % Sf A & we) H e wifeg | 3 dee i Al F 1
FErs AE ) Farfed O H SuE o @t Hen gitwfo R

Define 1 volt. Express it in terms of SI unit of work and charge. Calculate the amount of
energy consumed in carrying a charge of 1 coulomb through a battery of 3 volts.

3

[§s]
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(@) T % gN wEhRid qeF fafawi

(b) wEEd fE T Y e i W e el R e & fag @ ok Y R e swin s
g wi fod |

Harsh, Nikhil and Neha come to school by their respective cars though they lived within a
distance of 2 km from the school. On the other hand Raghu, their friend, came by bicycle from
the same distance. He persuaded his friends to stop coming by car and use cycle instead. His
friends were convinced and they also started coming by bicycle.

(a)  List the values exhibited by Raghu.

(b) Explain how he must have convinced his friends to adopt same  values that they
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accepted his proposal.

dRFE H 3
(@) A H TR
(b)  =HOT R

(¢)  hren T sl 1 v farfaw)
State the function of

(a) glass plate

(b)  mirror

() blackened box in a solar cooker

(a)  WETHE FEsw g SIS | gHesT Fa 3uEn 2 5

(b) Taerr A | w9t wiEcHRfer # Sen W ag e O ¥ ®, e faersd B § uw it
Aferet TS H1 TTEH W 98 T T S ) WAWBMM%W%HWWAW
BH 9 frwst pH wW afue wm?

() T e o Am fefed fow faeam i pH %19 7 @ aifiss ), aon ©F T @@v &1 W
foafad foraes foemm &t pH &1 9@ 73 %9 8

(a) Define a universal indicator. What is the use of universal indicator ?

(b)  Solution A gives pink colour when a drop of phenolphthalein indicator is added to it.
Solution B gives red colour when a drop of methyl orange is added to it. What type of
solutions are A and B and which one of the solution A and B will have a higher pH value ?

{c) Name one salt whose solution has pH more than 7 and one salt whose solution has pH
less than 7.

et & wror S 5

() v gl o Tl e @ sifufira wee § o wE: #1 erere T Seafet e adt
(i) ~ wifean erglre faere &1 Tty & ol 3§ 6 @ 1 g

(i) =g 9TeT S @ st § aifufean T S Af T ow ar 918 F 1e W e
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(iv) Wﬁmnﬁﬂm@éﬁﬁgﬂmmmmm%m%mm
oA g

(v) Wmﬂﬁﬁmﬁmﬁﬁmﬁmﬁﬁmm%t

-J/Give reasons for the following :

(i) Generally no hydrogen gas is evolved when metals react with dilute nitric acid.
(i) ~ Sodium hydroxide solution cannot be kept in aluminium containers.

(iiiy  Silver metal does not combine easily with oxygen but silver jewellery tarnishes after
sometime.

(iv)  Sodium is obtained by the electrolysis of its molten chloride and not from its aqueous
solution.

(v)  Aluminium reacts with dilute hydrochloric acid slowly in the beginning,.

(a) mﬁmﬁwmﬁm'ﬁqﬁ;mwwm%

(b) mwﬁ_mmammmmmmm%g@wﬁm
el 1 T e ferfan | gt ol iy % weer @ e e

(@)  Name one organ each where growth hormone is synthesised in man and plant.

(b)  List the sequence of events that occur when a plant is exposed to unidirectional light,
leading to bending of a growing shoot. Also name the hormone and the type of movement.

(¥2)

(a) ﬂiﬁﬁgﬂ&lﬁﬁ@%fﬁ?usﬁ{ﬂimﬁwﬁmﬁaﬁaqﬁm1
(b) -mqﬁqﬁﬁaﬁwﬁtwm%aﬂaﬁ%mmaamﬁaﬁaﬁmi
(a) Describe in brief any three important features of domestic electric supply lines.

(b)  List two distinguishing features between overloading and short ~ circuiting in
domestic circuits.

ferferfian ¥ fora sHror <ife 5
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(v) o ferege oI Y Wemfiset e WE ane fed & o el T @ S § S iRl 9 Aw
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Give reason for the following :

(i) An electric bulb is ot filled with air but is filled with argon or nitrogen.

(i)  'The filament type electric bulbs are not power efficient.

(iii)  The coils of heating devices are made of alloys rather than pure metals.

(iv)  Copper and aluminium wires are usually used for electricity transmission.

(v)  The current that makes the heater element red hot only slightly warms the connecting

wire leading to the heater.

b

2 fdt uard # whREE @ A 87 g9 S W e i) for e ar o wfady S
fir iRl ot Feft e & o sterA % fan Bl wim i @i '

What is meant by electrical resistivity of a material ? Derive its SI unit. Describe an experiment
to study the factors on which the resistance of a conducting wire depends.

-/ SECTION - B

25 g gard S HEar Bl § 9 YrEd: B Al © 1

(@) @ HCl (b)  CH3 COOH
(0 NaOH (d)  NaCl

Substance which is bitter in taste is likely to be:
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@  dilHCl (b)  CHaCOOH
(© NaOH C(d)  NaCl

26 qm@ﬁﬁwﬁﬁm?@wpﬂmmﬁ%m%muﬁﬂw%ﬁ'éﬂﬁmaﬁaﬁm 1

T ﬁmma@@ﬂ'gﬁqﬁaﬁaﬁwﬁmﬁq—

(@) pHIW : (b) TR

©  foema IR @ ifew

A student was asked to collcct apparatus from lab store, for
sample. Identify the article which he is not supposed to pick.

()  pHpaper (b)  dropper
(<) litmus paper (d)  petridish

27 S Totre ¥ frell @ T A R A € 2
(a) e TR Y T Al T s A gL
by A femerd |
(©) oy 1 ) A e 21
(d) fr el vivE f Feed ¥

What happens when ferrous sulphate crystals are heated ?

(a) A gas having the smell of burning sulphur is evolved
(b)  No gas is evolved
()  Brown coloured gas is evolved

(d)  Colourless and odourless gas is evolved

28 43 gt T SR AR GEARER (A) ZnSO4 (B) CuSOs (©)

doing experiment of pH of given

FeSO, 791 (D) AL(SO): fad T ¥ 1

3 dive Yaa ot T £ quaAtadi d ® sifuferan =l Bt A €

CUSO4' _"'% FCSO4 E.'::.'.::é
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Iron filings are added in four test tubes containing (A) ZnSO:  (B) CuS04
(C) FeSOs and (D) Aly(S01)3 as shown below. The test tube in which reaction will not occur are
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ZnSO Aly(SOy)3 <

Fe Fe

B &
@ AD,C ® BC () BD (d BA

HIR Gehe & a7 & A% F Fid ) et W Uled 7 wegor & & wiel W ww wa aq W1 |
A e e T e

(a)  EA (b) HW

(€ U GTHEE (d HT

Rohit observed the formation of a coating when he added the solution of copper sulphate to
the iron nails. This deposition is of :

(a) Iron . (b)  Copper
(c) Iron sulphide (d)  Sulphur

wETTeET H IUee B UHIEd A a9 A, 3R &1 SeeHied Vq 98 Vo & YEe! sl amrg feafam 9= L
sl o qE W 8 AieH # At @ ufdl @ 9o wiale 9 e & W H U ad
AeeHet &1 wataT =999 &

(a) UHRT A, 91 dieedier Vy
(b) THIEX A, e seHR Vy
(c) UHTEX A; a9l diceHiet Vo
(d) THter A, a1 Sieedizt Vs,

The normal positions of the pointers of the two ammeters A; and Az and two
voltmeters V1 and V; available in the laboratory are shown in the given figure. For an
experiment to determine the equivalent resistance of two resistors connected in series
the best choice of ammeter and voltmeter would be :
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(@) Ammeter Ai and Voltmeter Vi
(b) Ammeter Az and Voltmeter Vi
(¢) Ammeter A and Voltmeter V2
(d) Ammeter A; and Voltmeter V2

31 qmwzmsonaﬂtmna;meﬁaﬁev%fawaﬁ@a@m(:ﬁmﬁﬁaﬁﬁr@m 1

™ %)Eﬂﬂm H YT &1 HA B~
60
R
= \—fvvvv—/ .
10
ol
6V
(@ 01A
(b) 07A
() 0.6A
(d) 60A

Parallel combination of 60Q and 10Q is connected to a source of potential difference
6V by a student (as shown in fig below) the magnitude of I in amperes will be-

100

| 1

6V
(a) 0.1A
(b) 0.7A
(c) 0.6A
(d) 60A
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T e ® T g

() = TE ¥ : (b)  hifem =& &)
() Fasteia & (d) W HIRITOr R e

A plant is kept in the sunlight for 8 hours, but it does not show a positive test with iodine. It
means it is:

(a) Nota green plant (b) Not alive

()  Dehydrated (d)  Not photosynthesizing

‘YaE % R i - erseEEe i sl St 8 w1 v i wn wed 9 Se ¥ serE !
& I W 371 WRE 990 H o Tl &7

(a) =T I oA (by T 5
(¢) A H U (d)  wEvi S|

Rinku wanted to carry out the experiment to show that carbon -dioxide is given out during
respiration. Which other chemical can she use other than water ?

(a)  Sugar solution (b}  Coloured water

() Lime water (d)  Saline water

L% ]

ferelt ferermera =t wanTemen 9 frenedt ©F oo et A Hg gtk O 39 W ST F TWE 6
e FA1 TR ¢ 39 Frend w1 Sovim HIfe S a7 913 e Yal F enun W freee wEd
(4]

In a school laboratory a student wants to study the effect of heat on the ferrous sulphate
crystals in a boiling tube. State the conclusion he is likely to draw on the basis of his
observations.
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- Name the following circuit components,

(a) —"YK”_‘

® —HHH
(©) ;

e
(d) AAAN

ot 7 et 0 STl SR S R 3w d et 5 i e & o e
TEE T A (o Y R R % ST § ?

In the experiment to prepare temporary mount of leaf peel which stain

is extra stain on the slide removed ?
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